CONTRACT AGREEMENT

NO.: <u>2020-582</u>

FOR

CONSTRUCTION OF 1-CLASSROOM SCHOOL BUILDING WITH PWD TOILETS AT UPPER DELA PAZ PRIMARY SCHOOL, DELA PAZ, CORTES, BOHOL

KNOW ALL MEN BY THESE PRESENTS:

This CONTRACT made by and between the Provincial Government of Bohol (Government, represented by the Governor, ATTY. ARTHUR C. YAP hereinafter called the "Owner"), as the PARTY OF THE FIRST PART and CLAIRE CONSTRUCTION AND SUPPLY, represented by MR. PETER RICARDO R. MUAÑA (hereinafter called the "Contractor") as the PARTY OF THE SECOND PART,

WITNESSETH

WHEREAS, the Owner is desirous that CONSTRUCTION OF 1-CLASSROOM SCHOOL BUILDING WITH PWD TOILETS AT UPPER DELA PAZ PRIMARY SCHOOL, DELA PAZ, CORTES, BOHOL belonging to the Provincial Government of Bohol (hereinafter called the "Project")

WHEREAS, the Owner has accepted the bid of the Contractor for the execution of the above mentioned project in the amount of One Million Six hundred Forty-Six Thousand Four Hundred Fourteen Pesos and Thirty-Nine Cents Only, (P 1,646,414.39).

WHEREAS, Project shall be completed in 90 Calendar Days in accordance with the provisions of the Bid Documents;

NOW, THEREFORE, the Parties hereto further agree on the following:

- The following documents shall be deemed to form parts of this contract, viz:
 - a. Contract Agreement;
 - b. Bidding Documents;
 - Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents/statements submitted;
 - d. Performance Security;
 - e. Credit line in accordance with the provisions of this IRR, if applicable;
 - f. Notice of Award of Contract;
 - g. Other contract documents that may be required by existing laws and/or the procuring entity concerned in the Bidding Documents, such as man power schedule, equipment utilization and health program;
 - h. Other pertinent documents as may be reasonably required by the Province.
- Project Equipment specified/needed should be stationed at the project sites until completion of all work operations. The deliberate act of removing the equipment from designated project sites is not permissible.
- 3. The Provincial Engineer together with PEO Officials should convene with contractors or their authorize representatives for a regular Monthly Coordination Meeting scheduled every first (1st) Wednesday at 9:00 in the morning at the Provincial engineer's Office, New Capitol Site, Tagbilaran City and;

- 4. The pertinent provision of R.A. 9184 and its Implementing Rules and Regulations, Part A, particularly but not limited to the implementation of the project as well as all applicable laws and regulations are deemed incorporated to and forming integral parts of this Contract.
- In consideration of the payments to be made by the Owner to the Contractor, as earlier mentioned, the Contractor hereby covenants with the Owner to implement and complete the Project in conformity with the provisions of the Contract, the documents incorporated herein and the laws and regulations made integral parts hereof.
- 6. The Owner hereby covenants to pay advance payment to the Contractor of 15% of the total contract price upon approval of the Contract, issuance of Notice to Commence Work and the posting of irrevocable standby letter of credit of equivalent value. The Contractor hereby covenants to repay advance payment to the Owner by deducting 15% from his progress payment.

	PPER DE	1 1 1 1 1 1 1 1	PRIMARY SCHOOL, DELA PAZ Description of Supplies/Materials/Services	Unit Price (Pesos)	Amount (Pesos)
Item No.	QTY.	UNIT			
PARTA			GENERAL REQUIREMENTS		
	1.00	LOT	PERMITS & CLEARANCES	6,300.00	6,300.00
В.3	1.00	LOI	APPLICATION AND PROCESSING OF BUILDING PERMIT WITH THE OFFICE OF THE BUILDING OFFICIAL		
	1.00	LOT	SAFETY & HEALTH	1,129.84	1,129.84
B.7	1.00	UNIT	PROJECT BILLBOARD(4' X 8') TARPAULIN W/ STANDARD BILLBOARD MARKINGS	2,969.10	2,969.10
PART B			EARTHWORKS		
	26.18	CU.M.	STRUCTURE EXCAVATION	1,879.96	49,217.35
803(1) 804(1B)	68.58	CU.M.	EMBANKMENT(SELECTED BORROW)	865.76	59,373.82
804(4)	4.00	CU.M.	GRAVEL BEDDING	2,491.90	9,967.60
PART C			TERMITE CONTROL		
1000(1)	94.04	SQ.M.	SOIL POISONING	88.42	8,315.02
PART D	80 60		CONCRETE WORKS		and the same of th
900(A)	2.16	CU.M.	REINFORCED CONCRETE COLUMN FOOTING	7,677.50	16,583.4
902(A)	170.55	KG.	REINFORCING STEEL FOR COLUMN FOOTING	75.18	12,821.9

Transition and the second					
900(B)	3.90	CU.M.	REINFORCED CONCRETE FOOTING TIE BEAM 1 & 2	10,625.92	41,441.09
902(B)	725.566	KG.	REINFORCING STEEL FOOTING TIE BEAM 1 & 2	76.30	55,360.69
900(C)	3.83	CU.M.	REINFORCED CONCRETE COLUMN, STIFF.COL. & PC	13,415.94	51,383.05
902(C)	1,162.001	KG.	REINFORCING STEEL FOR COLUMN, STIFF. COL. & PC	76.56	88,962.80
900(D)	4.80	CU.M.	REINFORCED CONCRETE RB1, RB2, LRB & LINTEL BEAM	12,964.94	62,231.71
902(D)	856.733	KG.	REINFORCING STEEL FOR RB1, RB2, LRB & LINTEL BEAM	76.02	65,128.84
900(E)	8.84	CU.M.	REINFORCED CONCRETE FLOORING, CORRIDOR & RAMP	7,488.28	66,196.40
902(E)	373.812	KG.	REINFORCING STEEL FOR CONCRETE FLOORING, CORRIDOR & RAMP	80.08	29,934.86
900(F)	0.83	CU.M.	REINFORCED CONCRETE WORKS FOR ONE-UNIT C.R	18,791.00	15,596.53
902(F)	109.70	KG.	REINFORCING STEEL FOR ONE UNIT CR	76.87	8,432.64
PART E			MASONRY WORKS		
1046	98.35	SQ.M.	MASONRY WORKS(6" CHB)	1,542.88	151,742.25
PART F			FINISHING	-	allowers to the second transfer
1027(1)	141.00	SQ.M.	CEMENT PLASTER FINISH	182.09	25,674.69
PART G			TILEWORKS		
1018(3)	13.18	SQ.M.	CERAMIC TILES(COMFORT ROOMS)	1,710.90	22,549.66
PART H			METAL STRUCTURES		
1047	2,881.366	KG.	STRUCTURAL STEEL(ROOF FRAMING, FASCIA & RAMP RAILING	122.33	352,477.50
1003(1)	102.25	SQ.M.	4.5MM METAL FRAME FIBER CEMENT BOARD	861.92	88,131.32
1051(5)	2.00	PC.	METAL RAILING(GRABRAIL) FOR PWD COMFORT ROOM	6,617.39	13,234.78
PART I			ROOFING WORKS		
1014	107.00	IN.M	PRE-PAINTED METAL SHEETS	929.18	99,422.26
PART J			DOORS & WINDOWS		
1009(1)	14.39	SQ.M.	GLASS JALOUSIE WINDOW INCLUDING JAMBS	2,366.25	34,050.34
1010	3.78	SQ.M.	WOODEN DOORS W/ DOOR JAMB	5,248.46	19,839.18

			TOTAL CALCULATED	>>>>>	P 1,646,414.39
		1			B 1 CAC 414 20
1003	1.00	UNIT	BLACKBOARDS		
PART N			CARPENTRY	7,974.58	7,974.5
1032(1) B	49.00	SQ.M.	WOODEN PAINTING, STEEL FASCIA, AND RAILING	167.88	8,226.1
1032(1) A	319.07	SQ.M.	MASONRY PAINTING(INCLUDING FIBER CEMENT BOARD)	159.99	51,048.0
PART M			PAINTING WORKS		
1002(26)	11.30	CU.M.	SEPTIC TANK	4,651.46	52,561.5
1002	1.00	SET	PLUMBING (SANITARY LINES, WATERLINES & FIXTURES):	26,318.15	26,318.1
PART L			PLUMBING WORKS		
1103	15.00	SET	LIGHTING FIXTURES AND WALL FAN	824.11	12,361.6
1102	1.00	SET	PANEL BOARD	3,786.38	3,786.3
1101	235.00	MTS.	WIRES AND WIRING DEVICES	60.65	14,252.7
1100	108.00	IN.M.	CONDUIT, BOXES AND FITTINGS	59.23	6,396.8
PART K			ELECTRICAL WORKS		
1043	1.89	SQ.M.	PVC DOORS AND FRAME FOR C.R	2,655.95	5,019.7

One Million Six hundred Forty-Six Thousand Four Hundred Fourteen Pesos and Thirty-Nine Cents Only

Contract Amount as Calculated shall prevail as it is more advantageous to the Government.

of Tagbilaran to the exclusion of any other venues. IN WITNESS WHEREOF, I have hereunto set my hand and affixed my notarial , 2020 in Tagbilaran City, Bohol, Philippines. **CLAIRE CONSTRUCTION & SUPPLY** PROVINCIAL GOV'T OF BOHOL BY: BY: ARDO R. MUAÑA ATTY. ARTHUR C. YAP Governor BY THE AUTHORITY OF THE GOVERNOR RIN FE D. PIOQUINTO Provincial Administrator WITNESSES: ENGR. EUSTAQU GASATAN Engineer IV, PEO **End User** ACKNOWLEDGEMENT REPUBLIC OF THE PHILIPPINES)) S.S. PROVINCE OF BOHOL Tagbilaran City, Bohol Personally appeared before me, Atty. Arthur C. Yap representing the Provincial Government of Bohol with Employee ID No. 19141 and Mr. Peter Ricardo R. Muaña with No. 19943829 Certificate Community on Jon 7 novo , known to me to be the same persons who executed the foregoing instrument consisting of five(5) pages including this page upon which this acknowledgement is written, duly signed by the parties and their witnesses on each and every page thereof, and they acknowledged to me that the same is their free act and deed. IN WITNESS WHEREOF, I have hereunto set my hand and affixed my notarial , 2020 in Tagbilaran City, Bohol, Philippines. Doc. No. 247 Page No. _ 60_ Book No. 440 MOTARY PHALK Series of 2020p NCS No. 2020-07. until December 31 2021 ROŁL. 60068, FIN 906-177-412 PFRNo. 7552845, 12-10-19 (for 2020) Valencia, Bohol IBP No. 095172, 11-19-19 (for 2020)

Any controversy arising from this contract shall be resolved under the duly

established alternative mode of settling disputes as provided by law. In case of resort to court action the parties agree that the venue thereof shall be in the proper court in the city

Tagbilaran City, Bohol